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answer. Make your choice {1, 2. 3 or 4). Shade the correct oval (1. 2, 3 and 4) on the
Optical Answer Sheet. .

1. The picture below shows the cross section of a papaya fruit.

e W et wow® LT - ﬂeShy layer

el L B

seeds

Which pért of the papayé flower swells to form the fleshy layer of the fruit?

{1} Owule

(2) Ovary

(3) Stigma i o - .
(4) Stamen )

2. The diagrams X, Y and Z below show the reproductive organs of scme
organisins. :

' i

LY

T Ve sttiiients sbout he deprodicivs Grgane of X Y-and Z are corect? .

A: Fertifisation can take place within Z itself.
B: Z contains both the male and the female sex celis.
C: The reproductive organs of X and Y produce different types of sex-.

celfs, _ ,
(1) Aonly- - ) AandBonly - -
3 AandcC An:yf _ . @ A,B.andC
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3. Four children made the folfowing statements about the life cycie of a meaiworm

beetle and a cockroach.

Adrian: The young of a cockroach and mealworm beetie hatch from fertitized

€ggs..

Bab: The youngof a mealworm beetie and cockroach go through the moulting

stage.

Cathy: There are 3 stages in the fife cycle of the cockroach and 4 stages
in the fife cycle of a mealworm beetle.
Dora: = The young.of a meatwonn beetie looks like its parents but the
' young of a cockroach does not look like its parents.

" Which of them made frue statements?

{1)  Adiianand Bob only
(¥4} Bob and Cathy only

(3)  Bob, Cathy and Dora only

(4}  Adrian, Bob and Cathy oaly

4, The diagram beldw shows the stages of growth of a plant.

Frut \
Seed
Flower
B
D
) f_\d_ll!t'_Pla!_lt - « : . ‘Set_adling_

LR

" Atwich stages do the processes of gerrination dind fertilzation take place?

Germinatipn Fertilization
(1) . D A
2 B E
3) 4 B D - ST
4 C E
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5. Shu Min germinated some balsam seeds and recorded her observations in the
table as shown below.

Day : Observation
2 The seed becomes swollen
5 The seed coat breaks
7 The roots start te appear
10 The shoot starts to appear ’
17 The shrivelled seed leaves have dropped off |

On wh_ich day will the seedling most probably be able to cGarry out photosynthesis?

(1) Day>s (2) Day 7
{3) Day 10 o (4) Day 15

6. Loock at the classification table below.

. Group A | _ i Group B
Goldfish Elephant

Guppy . Horse

Shark Cow

‘Which of the following sentences is correct?
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7. Look at the classification chart below
L Organisms
X Y

Reproduce Reproduce ) Feeds on : Feeds on living
from seeds from seeds and decaying things

only : other plant matter

. pails .
| . | |
Mango Ginger | Mould , Frog

Which one of the following can headings X and Y be?

X Y

{1} Plant ] Animal

(2) {ives on fand ' Lives in water

3) Have chiorophyil Do not have chiorophyll
{4) Cannot move from place Can move from place {o
' to place place
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8. The flowchart below shows the characleristics of sorne amimals.

Animals f

!

Does it give
birth to its YeS . [ Does it have Yes

young alive? - >l scales? 'I l

No

Does its Yes _
young have b4 a
gills?

No

-

Does it have
wings? Yes

[
L

Which letter P, Q, R or S best represenis the spiny anteater?

h A

we - @a
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9 The table below shows the characteristics of 4 things W, X, Y and Z_

Thing Changes in- | Reproduces | Moves freely | Produces its |
size from place to own food
- place
w v v v
X v v . P
Y v )
7 Vg v v

Which of the above could be a living thing?

(1) Wand X only . {2} X and Y oniy

(3) W and Z only _ (4} W, Y and Z only

10.  The graph below shows the change in the population of zebras in a grassland
habitat over a period of time. o

No. of
zebras

Y

. _ : Time

- Which.of the. foﬂomng events could have led to the change in the zebra-
PopulaﬁonfroumntBtGPmnfC'? T TR R e

(1) 'l‘here was a droug"ht in the gtass!and.

{(2) There was overgrazing whichfed a shortage of food

{3) The death rate of the zebra increased more than ifs birth rate.

(4} There was 2 decrease in the population of the zebra S predators. )



2009 - P6 — SC — SAl - Rosyth

11.

Rosyth School P6 Standard Science iSemestral Assessment 1f 2009

Joyce set up an experiment to find out which conditions were most suitable for

plants to live. The setl-up consisted of five belljars containing a plant each. Each

plant was given a different set of conditions. All the planis were identicat and

healthy at the start of the experiment. The ta

given to the five plants.

ble beilow shows the conditions

Bell Jar A B . C (8] E
Oxygen N N TV
Fertifizer 4 )
Carbon dioxide v v N
Water _ v v |
Sunlight N N v )

Which 2 bell-jars of plants would be s

plant to make food?

{(HAandC

/lékp: and D

-
12. Ronice conducted an
identical pots A, B, C,
identical garden soil u

(2JBand E

(4)Dand E

experiment by planting one sidng' bean seediing each in 5
D and E. She planted each seedling in the same amount of
nder various coriditions as shown in the following table.

uitable to show that water is needed for the

-

She recorded their growth in height after two weeks, as shown below. _

' PlantA | PlantB | PlantC | PlantD | PlantE
Height of plant {cm) 10 20 30 15 45
::;:l:t(;nt cr:; rf:‘a;‘;:ihzer 1 4 6 2 8
;\;_ayt)er added {(ml per 56 55 55 55 55

Based on the infermation shown

experiment?

.. (1) The plant needs water and fedtilizer for. healthy growth; . - -

. what conclusion can we draw from this

-+ {2} Thie plait would riot grow ifno fertilizér was added to the'soil. - .-
- {3) The plant grew faster when moré fertilizei was added to the soil. -

(4) Differént amounts of fertilizer affects

amounts of water.

-

plant growth inore than different
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13. The diagram below shows 5 plants, A, B, C, D and E. They are found growing
near and in a pond.

Which of the plants shown above A, B, C or E will not grow well if plant D
multiplies at a rapid rate?

{1) A only (2) Bonly
{3) B and C only {4) C and £ only

14. Tracy set up 4 tanks, A, B, C and D as shown below to find out how the amount
of tight alfects the survivat of fishes in the water. She filled each of the tanks with

1000 mi of water.
-— — s — Opanle = T
A T _and —f ® < 0
. black — = —_
A B
e U F=F T B e @A
. c ) ] >

From the above set- ups, wh:ch 2 tanks should she use to ensure that she is

cairying out a fair test‘?
(1) AandBonly - {2) Aand D only i
(3) Band C only . - (4) C and D only B .
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15.  Beatrice carried out an experiment 1o find out the effects of carbon dioxide on

four organisms W, X, Yand Z fiving in the pond over a period of five months. She
recorded her observations in the {able below.

B Size of population
Concentration of Organism Organism Qrganism Organism Z
carbon dioxide W X Y
{mgh)
1 75 107 ) 213
5 75 106 - 99 257
10 75 110 89 274 1.
15 , 80 110 110 | 289 ]

Which one of the organisms could most likely be water plants?
(Hhw - @Y '
@) X @) z

16.  The diagram below shows a water container holding 1000 ¢m® of water. The
capacity of the container is 5000cm?. ' -

Tap __ Water

container

Beaker

s e

When the tap of the container was turmed on and off, 500 cm?® of water was.

7. oollected n the beaker. Whet wouldbe the final volume of sic o the coritainer?”.  ;:- .
(3) 4500 cm® {4) 5000 cm?®
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Agnes poured equatl amount of water into the 3 containers as shown below.

Which of the following conciusions can she make about water based on the
above diagram?

(A) water has an indefinite shape -

{B) water level depends on the shape of the container
{C) water level is always horizontal

(1) Aonly (2) C only

{3) Aand B only (4) A, BandC

Martha conducted an experiment to find out if water or oil is a better conductor of
heat. ;

ice: cube wiapped with wire gauze

A piece of ice’ cube is wrapped in wire gauze and placed af the bottom of the
lest-tube. Next she put a flame at the top of the test-tube filled with water. She

Which of the followin variables rixstbé kept the saigie for 3 air test? -

{A) the size of the ice cube

{B) the position of the flame applied

{C) thie amount of fiquid in the test tube .

(D} the time the flame was on until the ice melted

(1) AandConly T {2) Band D only -

(3) A, Band C only : (4A.B,.C,andD

10

then recorded the time taken for the ice cube to melt.completely. The experiment .
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Study the diagram below carefully.

—

_! 'if(;
/\:‘f ;l_ '/- . R ﬂ‘ .A_"z_. .
) - \l rd - 11 7= -
\—= : o

A

in which of the processes (A, Bor C

a decrease in its rate directly?
{1) A only (2) C only
{3) Aand B only {(4}A,Band C

3} will an increase in humidity of the air cause

The table below shows the freezing point and boiling point for 4 different
substances, £, F, G and H.

Freezing point {°C)-

Substance Boiling point {*C)
E 15 113
F -7 35
G 40- 180
H -102 -35

"Which one of the-following represents correctly the states of each of the
- substances E, F, G and H respectively at the temperature of 28°C.

States of substances at26°C |
{9 Ligquid . ] - iiqui "~ -Solid- "~ - Uguid- ~ 1
(2) Solid Gas Liguid Gas )
(3) Gas Solid Liquid Solid
@) Liquid Soid . | Gas

Liquid

11
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Study the flow charl below carefully.

Start

1

Does it have a

{ces it have g

Yes

- Yes

Neo
definite shape? o} definite volume?
Yes
h 4 -
No
Is it hard? " R
Yes l _
Daes it break Yes Can it change §
when hit? » state when heated?
No No
h h 4
U T

Which letters in the flow chart above represent “Rock sugar” and “Milk”

R )

respectively?
Rock sugar . Milk
1) R T
{2). S Q
. T o -P.
@ e TR

12

7k
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Owen coated different amount of wax on the ends of 4 similar rods (A, B, C, and
D). She then heaied the other ends of each rod over a candle flame and
recorded the time taken for the wax {o melt completely. Her results are shown in
the table below, .

Rods Time taken for the wax fto
melt completely (minutes)
A 6 :
B 3
C 7 ]
D '8

Which one of the following should be the aim of the above experiment?

(1) Htis to find out if the size of the rods will affect the time taken for the wax to
melt completely ' -

{2) tis to find out if the amount of wax will affect the time taken for the wax to
melt completely '

(3} Itis to find out if the intensity of flame will affect the fime taken for the wax to

. melt completely

{4) 1t is to find out if the material of the rods wilf affect the time taken for the wax
to melt completely ' '

Study the classification table below.

Opaque Materials

l

| : I .
Conductor of electricity Non-conductor of electricity
E— —
Flexible { Non-flexible Flexible Non-flexible

Which of the following is a possible combination of objects E, F, G and H?

E : F G .. ’ H
1) “ Nylon - { - kronnail Spectacle lens Ceramics mug
(2] Nylon Aluminium foil ___ Carpet - Rubber tube
(3)] Copperwire | Steel pipe Rubber tube Spectacle iens

{49 Copper wire - lron nail- Metal spring Ceramics mug

13
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Sofa is either made of cloth or leather. What would be the possible reasons for
customers to prefer buying a leather sofa than one made of cloth?

~ A Leather is more durabte than dloth

B: Leather is waterproof but not cloth
C: Leather is more colourful than cloth

" -D: Leather'is more resistant to heat and flame

(1) A and B only (2) A and C only

(3) A, B and C only {4) A, B and D only

The diagram below shows a picture of a simple electric circuit.

When the swifch was closed the bulb lit. What was the energy conversion thal.
would take plaoe?

(1) electrical energy __, light energy
(2) ppge.pt_nz_xl energv -—+ eledncal enetgy ._, l:ght energy

(3) chemnwl energy — hnetioénergy—-r eiedncal energy_.. llght energy

(4) potential energy —» chemical energy —s-electrical energy  —» light energy -

14
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26.  Study the diagram below.

Surface

A'spring balance Is used to pull a wooden block over a surface. Which of the
following wilt affect the amount of force needed to pull the object?

- A: type of surface -
B:  thelength of spring in the. balance
C:  mass of the wooden block
D:  angle at which the force is applied _
{1) A and B only ' (2) A, B and C only

(3} A, Band D only {4) A, C and D only

LI
1

15
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Study the diagram below.

A rubber baft was released from the highest point of Ramp P. It rolled dewnwards

and along the floor. Next, it travelled up Ramp Q and down before it was stopped
by Block R.

Rubber bait

Block R

Ramp Q

Floor

Based on the path traveled by tne rubber ball, which one of the following
statements is true?

(1)
1¢3)

3}
4

All the kinetic energy would be used up when the subber ball hit block R.
When the rubber ball was released from Ramp P, it gained potential
energy.

The rubber ball had the most kinetic energy when it is at the ‘highest point -
of Ramp P.

Kinetic energy was converted to potential energy when the rubber ball
travelled up Ramp Q

16
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Four metal bars P, Q, R and S are hung from a rod as shown in the diagram
below. The two ends of each metal bar are marked X and Y respeclively. The
north pole of a bar magnet is brought near X and then Y of each metal bar.

S N | Bar Magnet

The observations made during the experiment are recorded in the table below.

Metal Bar - Observations
' North pole & End X North pole & End Y
P Repelied Aftracted
Q Attracted Attracted
R No reaction No reaction
S Repelled ' Afttracted

L

Which one of the following statements about the experiment is correct?

{DBarRisaweakmagnet.-. .- ..
= (2)'Bai Q is definitely miadé of iron.-= 7 - .

{3) Two:of the mietal bars are magriets. - -
{4) None of the metal bars are magnets. .

17
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29.  Which of the following graphs correctly sepresents the retationship between the
mass of the object and the extension of the spring?

(1)
F 3
Extension
—» Mass
@
Extension ¢
» Mass
(3)
Py
Extension
. » Mass
S ) '
’ A
Exdension
Mass

Y

18



2009 - P6 — SC — SAl - Rosyth

Rosyth School P6 Standard Science /Semestral Assessment 1/ 2009

30. The four aclivities (A, B, C and D) below show forces at work.

Activity A

|-

Ron Dragging a parce!

Activity C

" Leo tightening a boille cap

Activity B

Ben skiing down a mountain

Which of the following activities require the presence of frictional force to camry

out?

{1} A and B only

(A BandConly - - .

(2) A, C and D only
CUAAB CandD- -

e

End of Booklet A

19
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Bookiet B (40 marks)

F-or questions 31 {o 46, write _ypur' answers in this booklet.

31. Look at the flowchart and a’néwer the questions that follow.

Animal

Y

Does it breathe through gills?

Yes

No

vy

No

e

Yes

Does it have scales?

Yes

Does it have breathing tubes?

luo

A

(a) Write down one similarity between animais C and D. {im)

e e _..,-(b.)-_ Nameapossﬁ)lehabltattheanmlsA BCanchanhvetogemenn o

1':‘ -

-\__‘ P

20
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32. The pictures below show two flowers from plants A and B.

Plant A Plant B

{a)  Draw an arrow in the diagram to show the movement of polien grams
during cross-poliination. {1 m)

(b} Describe how self-pollination in flowers fakes place. (1 m)




2009 - P6 — SC — SAl - Rosyth

Resyth Schooll P6 Standard Science /Semestral Assessment 1/ 2009

33. David placed an inveried test-tube containing some water and hydrilla inside a
beaker of water as shown in the diagram befow.

10 cm

» LIGHT SOURCE

After ten minutes, he counted the number of bubbles produced by the water
plants over 1 minute. He repeated the procedure 5 more times, increasing the
distance between the light source and the beaker. He recorded his observations
in the table shown below. '

Distance of light source from | Number of bubbles produced in
- beaker 1 minute

{cmy) ¥

- 30 60
40 50
50 40
60 , 30
70 . 20

(@)  Write down one conclusion David can make from the above experiment.
(1m)

(b)  Explain why the amount of hydrilla must be kept the same for the
experiment (1m)

92
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34. Serene did an experiment using pols of the same size, labelled X and Y. The
table beiow shows some of the conditions in her experiment. '

Pot Number of Amount of Amount of Heigﬁt of

seedlings soit used (g} water used plant after 2

{mi) weeks {cm)
X S5 700 : 35 8
Y 25 700 35 : 3

(a) State the aim of Serene’s experiment. {1 m)

(b}  State 2 other variables that Serene needs to keep constant other than the
ones stated above, in order for her to conduct a fairtest. (I'm)
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35. Look at the life cycles of the insects shown below.

/ e

Egg - Pupa J

Housefly

/ S

Egg p : Grasshopper

State one similarity and one difference between the life cycles of these insects.
(2 m)

Simitarity:

Difference:
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36.  Anthony carried out an experiment with 30 woodlice. He divided a cardboard box
into 4 equal sections P, Q, R and S as shown below. He created an opening in
the middle of the cardboard box for a light source to shine through.

He poured an equal amount of soil into each section. '
P T Q R S
\ / N/
\ / LN 7
dry soil : ) d3mp soil
Woodlice vso X
Anthony then released the woodlice at point X, as shown above. He counted the
number of woodlice in each section after an hour. He repeated his steps three
times. He recorded his resuits in the table as shown Below.
Number of times
expriment carried Number of woodlice in each section
out -
P Q R S
1 2 0 . 4 24
2. 2 1 ) 5 22
3 - 3 o .1 4 - 23
{a) Based on the results in the table, which condition does the waodlice prefer

.. most? (1 m)

S (B Give a reason'why there were mate woodlice in S than in R? (1 m)

(c)  ~ Why did Anthony count the woodlice after an hour? (1 m}
! R - .

-25
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37.  Mark planted an identical seedling each of similar height 2cm)in4
similar pots. Each pot contained the same amount and type of soil.
He watered each seedling with different amounts of waler daily. Then
he measured the height of each seedling at the end of 10 days and
recorded his observations in the table below.

Pot Dailif amount of water (mf) Height of seedling after 10 days {cm)
5

w 10

X 15 - 15
.Y 20 20

Z 25 _ 25

(@) - Draw a graph in the space below to show the height of the seedling after
10 days. tabelthe XandY axes. (2m) _

Y

(b)  He wants fo ensure that his results are reliable, but he does not want to
repeat his experiment. What do you think he should do? (1 m)

26
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38.  The table shows some populations of animals on a lime plant and what

they feed on.
Animals ' . Food
Beetle farva : Roots
Calerpillars Leaves ]
Mealy bugs and aphids ] ___Plant sap
Lady bugs : Aphids
Sfink bugs Seeads inside the fruit
- _Butterfly Nectar of flowers

(a}  How many populations of plant eaters are there on the lime plant? (1 m)-

{b) Fromihe information given, name one anirhal which is useful to the piant.
(1m) '

-

{c) Explain why it is usefal. {1 m)

38. 500 mi of air is pumped into each of 4 defiated balls of different sizes as shown in

the table below.
Ball Capacity of ball
- A 350 mi - --
B 400 ml
C . 500 ml . _ S
S Dy E 2 600ml L I - Sl

< E -

() - Explain your reason for your answer in (a). (1m)

27 -
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Time ' Temperature of Substances ("C)
- {minutes) Substance A Substance B Substance €
3 41.7 ' 425 ~ 403
6 41.0 42.0 39.5
9 . 40.7 39.1 38.2
12 39.2 364 37.0
15 36.6 342 . 36.1
18 34.0 326 340 ]

What would the terriperature of substance B be after leaving it for an howur in
the classroom? (1m)

Explain why there is a difference in temperatures of the three substances affer
being left in the sun for the same period of time? (1m)

Name two other variables that must be kept constant to ensure that the
invesfigation is a fair one. {1m)
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41.  Dan set up the experiment as shown below.

Retort stand ' -

_ Torch——l I:E

/

/ /

77T

He carried out the foilowmg steps

(1)
(2)
. 3)

&)

He mounted a torch. on a retort stand in front of a wall.

He measured the distance between the torch and the wall.

He sWitched on the torch and measured the diameter of the circular light
patch on the wall.

He placed the torch at different distances from the wall and repeated steps
{2) to (4) each ttme '

~ The measurements were fecorded in the table below.

Distance of the torch from the Diarneter of the light patch on
[ wall {cm) the wall {cm)
12 . ’ 8.2
14 8.5
16 . 9.6
.18 C - 11

(@

What was Dan trying to find out from this experiment? (1m)

®

What Is the reldtionship between the distance of the torch from the wall
and the diameter of light patch on the wall? {1m)

._'{c}.

State the energy conversion when _tbejo_rch was switched on. (1 ﬂ"f)
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42.  The diagram below shows a mallet pivoted at one end. it was allowed to
freely and hit a balt upon release from positions A and B.

swing

(a) Compare the speeds of the ball when the mallet head is raised to position
A and position B upon release. (1m) '

(b)  What wilt happen to the speed of the ball when it is being changed to a
heavier one? Explain why. {(2m) ) ‘

30
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43.  Study the diagram befow. )
An iron rod is suspended at an equal distance between 2 electromagnet setups P
and Q. The size of the steel rods, P and Q, the number of batteries used and the
swilches are identical. The steel rod in setup P has more wire coils than steel rod
in setup Q. ' ‘

fron Rod

Setup P Setup Q

_Steel Rod P with wire coils Steel Rod Q with wire coils

. {a)  What will happen to the iron fod when both switches are closed at the
same time? (1rn} ' :

-

.(b)" B Explam yoisr éigi's'wer-i}i(é;; (_'{r.nj. L e

31 -
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44, Study the setup below carefuliy.

Anne wants to find out which one of the three materials, A, B and C of similar
size and shape is suitable for making the support of a book self. it was found
that a strong material must be able to Support at least a weight of 12kg. Weights
are provided to test the strength of each materiai using the setup below. oo

Material A~

Using the setup above and the items provided, list the sfeps’that Arine must take _
to test the strength of each of the Materials, A, B and C. Step 1 has been done
for you. (2m) _

Step 1: Clamp Material A to the table top

32
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45.  Study the diagram below.

Position A

Tennis Bal]

Position C

Position B 5

When Doreen threw a tennis ball against the wall, it hit the wall at position A and
bounced off and landed on the floor at position B. ¥t then rolled along the floor
and finally stopped at position C

(3} What were the forces acting on the tennis ball when it moved from
Pasition A to Position B? (1m) '

S — - (b) }- Matk an ‘X’ OR; ﬁ;e ﬂoor in the above dtagram to show where ihe ball mtghf T
T L {and if Doreen had thrown the ball with a smaller force."(Im) -

()  Whydid the tennis ball come to a stop eventually at position C? (1m)-

33 ' -
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Carina carried out an experiment using the set up as shown below. The
experiment was repeated using two different surfaces of amp. For each
experiment, the time was measured for the toy car to travel the distance from A
1o B.

The details of the two experiments were recorded in the table befow. -

1 Experiment 2 Experiment
Surface of ramp Plastic A PlasticB
Mass of toy car (g) 35 35
Time taken {o travel from A '
to B {cm) - : 52 . 71

(@) Explain why the toy car took a longer time to move from A to B in the 2™
experime_nt? (1m)

- (b) .~ The angle of the ramp was incrensed to 60", Wiiat would hiappen to tfie”

results obtained? Explain why. (2m) -

T - . | End of Booklet B

33 -
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31)a)Both C and D breath through gilis.
b)Pond habitat.

32)a)

b)The pollen grains from the anther is transferred to the stigma.

33)a)The further the distance of light source from beaker the
lesser number of bubbles produced in 1 minute.

b)The amount of hydrifla must be kept the same i order not tn
affect the result of the experiment and to make the experiment a-
fatr one.

34)a)To fi nd out xf the number of seedlings could affect the helght
of plant after 2 weeks. _
b)Type of soil/amount of light/ type of seedling.

Pageito3 - -pagel
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35)Similarity: Both cycle begin with an eqq.
Difference: The housefly has 4 life cycle while Grasshopper has
3 life cycle. ' '

36)a)The woodlice prefer a dark and damp place.
b)S is darker than R. . :
o)1t is to aliow them time to move to their preferred condition.

F 3

4

37)a)

after
w8

9
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b)He should grow more plants in each pot and take the average
height.

38)a)s
b)Lady bugs. .
O)It helps to eat up the Aphids that eat the plant sap.

39)a)A,B,C,D :
b)Air can be compressed.

40)a)It would be 307C. _ : .
b)The substances of different conductor of heat.
<) The type of containers. The amount of substances.

41)a)Dan is trying to find out if the distance of the torch from the
wall could affect the diameter of the light patch on the wall.
b)The further the distance of the torch the wall, the bigger the
diameter of the fight patch on the wall. ' -
- c)Chemical energy->Electrical energy->Light energy + Heat

energy. :
_ page 2
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42)a)When the mallet head is raised at position A the balk will
 travel faster than position B.

b)The bail will travel slower because the heavier ball has more
friction to overcome.

43)a)The iron rod will attract the steel Rod P..
b)There ismore wired coiled around Rod P so it more magnetic.

44)Step 2: Hang the cup at certain point.
Step 3: Add aweight of 12kg into the cup.
Step 4: Observe if the material will snap/break.
Step 5: Repeat steps 1—4 for materials B and C.

45)a)Gravitational and Frictional Forces.

b) O——ﬁ—»ﬂ]

C)The Kkinetic energy is converted to other forms of energy.

46)a)Plastic B has a rougher surface the surface so there is more
frictional force between of the ramp and the types the toys car.

_ b)Decrease the greater the angle of the ramp, the car would:
have more potential energy which would be converted to more
kinetic energy and the car will move faster.
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